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Problem 1

1}

2g = 9.81

1he = 1.6

5 vh = 14.2

BEtl = @G.5

7t2 = 2.0

9hl = he +ve*tl - B.5*g*tl1**2
10 h2 = he +ve*=t2 - B.5*g*t2**2
11vl = vB - g*tl

12 v2 = vb - g*t2

13

14 print(hl,vl, h2,v2)



Problem 2

1]
2
2 import numpy as np
5
EvVe = 10
Ja=2.5
2z1 = 132./3
9 z2 = 26.,/3
10 z3 = 13
11
12
12Vl = ve=(1 - zl/np.sqrtla==2 + z1==2)]
14V2 = ve*(1 - z2/np.sqrtla**=2 + z2%%2)]
15 W3 = ve*(1 - z3/np.sqrtla**=2 + z3*%2)]
16
17 print(vl,v2,v3)
Problem 3
1]
E -
2 import numpy as np
Sa= (2 + np.e**2.8)/(np.sqrt(13) - 2)
6b = 1(1 - (1 + np.log(2))**-3.5)/(1 + np.sqrt(3))
7c = np.sin((2 - np.sqrt(2))/(2 + np.sqrti(2)))
8
@ print(a,b,c)



Problem 4

1]

2

2 import numpy as np

5

Ga = 1.+0]

7b = 2.40]

82c = 3.40]

9

10

11 x%x1 = (-b + np.sqrt(b**2 - a=g=c))ys(2*a)
12 %2 = (-b - np.sqrtib*=2 - 4=g=c)])s(2*a)
13

14 print(xl,x2)

Problem 5

1

P,

3 1mport numpy as np

5n = (3,4,5,100,10000,1000000)
6En = np.array(n)

7p = n*np.sin(np.p1/n)

8

9 print(p)



